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WarmUp Crade 8 TEST
TUESDAY

NOV. 29

mMonday, Nov. 21

Find the length of the missing Side(Use calculators but show your work)

You can use your notes
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Can a rectangular hockey bag with dimensions of 136 cm by 70 cm,
hold a hockey stick of lengths 150 cm?
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Find the area of the indicated square
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Find the length of the missing side
JeS em

2\ cn



gr 8 u1 sqre day 14_5 Pythagorean Theorem (day 2).notebook November 21, 2016

Differenty from Iast day with supply

redo if
wrong

70,12, 13(c)

WM @), 4(@), 5e.d), 6(ab) 7(e), 5(0), 9(bie)
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